( V={Eo/EizLE (1)

- AD 25

ey _115+<_z___1_+6__3__>:25 BER

D46+ (3 + 7)= @ 25+ (1 + 14) =
@11+(9 + 1)= @ 20+(6 + 4)=
@ 58+(9 + 1)= MA41+(5 + 5)=
@D 16+(6 + 4)= @55+ (5 + 5)=
® 36+ (46 + 4) = @ 17+(5 + 35) =
® 17+ (22 + 8) = @15+ (54 + 1) =
@ 15+ (2 + 3)= ®»13+(2 + 3)=
® 35+ (22 + 3 )= @ 82+ (7 + 3)=



( V=Eo7ZIZLE (2)

- AD 25

ey _115+<_z___1_+6__3__>:25 BER

D47+ (6 + 4)= © 35+ (3 + 42)=
@ 15+(1 + 9)= 020+ (1 + 9)=
®63+(5 + 5)= MA41+(6 + 4)=
@ 13+(7 + 3)= @54+ (3 + 7 )=
® 31+(43 + 7)= @ 19+ (6 + 24)=
® 30+ (21 + 9) = 4 25+ (33 + 2)=
@25+ (1 + 4)= @® 63+ (5 + 5)=
® 45+ (24 + 1) = ® 36+ (4 + 6 )=



( V={Eo7CizLE (3)

D 25
ey _115+<_z___1_+6__3__>:25 BER
@O 62+ (5 + 5)= @45+ (2 + 13)=
@11+(7 + 3)= 16+ (4 + 6)=
®57+(6 + 4)= 42+ (3 + 7 )=
@ 38+ (5 + 5)= @60+ (1 + 9)=
® 43+ (49 + 1) = @16+ (3 + 17)=
® 24+ (24 + 6) = @ 35+ 22 + 3 )=
@ 35+ (4 + 1)= ® 12+ (72 + 8)=
® 55+ (21 + 4)= @ 48+ (7 + 23)=



( V={Eo/CiZzLE  (4)

R 5

ey _115+<_z___1_+6__3__>:25 BER

M 55+(4 + 6)= @ 5+ (4 + 51)=
@12+(3 + 7)= @12+ (2 + 8)=
®77+(4 + 6)= @43+ (4 + 6)=
@ 19+ (2 + 8)= @50+ (9 + 1)=
® 30+ (48 + 2) = @13+ (7 + 43)=
® 12+ (25 + 5) = @15+ (11 + 4)=
@ 45+ (3 + 2)= 22+ (54 + 6 )=
® 65+ (23 + 2)= @ 49+ (8 + 12)=



( V={Eo72/izLE  (5)

R =) 5
ey _115+<_z___1_+6__3__>:25 BER
@ 61+(9 + 1)= @ 15+(4 + 51) =
@ 38+ (2 + 8)= @ 24+(5 + 5)=
®68+(8 + 2)= Mm50+(7 + 3)=
@ 35+ (0 + 10) = @ 55+(6 + 4)=
® 34+ (42 + 8) = @ 17+(8 + 52) =
©® 24+ (26 + 4) = 4 25+ (63 + 2) =
@ 55+ (1 + 4)= ®17+(17 + 3)=
® 25+ (31 + 4)= @® 11+(9 +61)=



( Y&xfEo>z/=L8 (6)

- AD 25

fwLast _115+<_z___1_+6__3__>:25 BEX

@75+ (1 + 9)= @ 25+( 1 + 14) =
@36+(4 + 6)= @17+(3 + 7)=
@ 58+(7 + 3)= MA47+(2 + 8)=
@14+(1 + 9)= @54+(7 + 3)=
® 46+ (45 + 5)= D 17+(4 + 66) =
® 14+ (28 + 2)= @15+ (74 + 1) =
@ 65+(2 + 3)=  ©®26+(44+ 6)=
® 35+ (34 + 1)= 25+ (25 + 5) =



( V={Eo7EizLE (V)

D 25
ey _115+<_z___1_+6__3__>:25 BER
D42+ (8 + 2)= @ 35+ (2 + 23)=
@ 12+ (0 + 10) = W62+(7 + 3)=
®@62+(1 + 9)= 29+(8 + 2)=
@ 31+(4 + 6)= @57+(2 + 8)=
® 42+ (47 + 3 )= @ 12+(2 + 78)=
® 14+ (29 + 1) = @15+ (82 + 3)=
@D 75+(3 + 2)= 80+ (13 + 2)=
® 25+ (32 + 3 )= o 77+(4 + 11)=



( V={Eo/C/izLE  (8)

R 5
ey _115+<_z___1_+6__3__>:25 BER
O 57+(2 + 8)= @45+ (3 + 12) =
@11+(8 + 2)= 0 58+(8 + 2)=
®80+(2 + 8)= 29+ (9 + 1)=
@ 39+(9 + 1)= @51+(8 + 2)=
® 30+ (44 + 6) = @ 18+(1 + 9)=
® 10+ (27 + 3)= @15+ (21 + 4) =
@ 15+(4 + 1) = ® 44+ (12 + 3)=
® 35+ (33 + 2)= ® 56+ (2 + 28) =



( V={E27ZIZzLE  (9)

- AD 25

SEoEst _115+<_z___1_+6__3__>:25 BEX

D 50+(7 + 3)= @ 55+ (2 + 13)=
@ 15+(6 + 4)= 069+ (9 + 1)=
®72+(3 + 7)= @M25+ (1 + 9)=
@ 30+(3 + 7)= @250+ (4 + 6 )=
® 42+ (41 + 9)= B 16+ (9 +11)=
® 11+ (20 + 10) = @25+ 33 + 2 )=
@ 25+ (3 + 2)= ® 34+ 26 + 4 )=
® 45+ (33 + 2) = @® 18+ (53 + 7 )=



( )zfEoz/izLE (10)

D 25

SEoEst _115+<_z___1_+6__3__>:25 BEX

@O 79+ (6 + 4)= @65+ (3 +12)=
@ 38+ (5 + 5)= @63+ (6 + 4)=
®60+(9 + 1)= @25+ (3 + 7 )=
@19+ (8 + 2)= @57+ (5 + 5)=
® 494+ (49 + 1) = @11+ (2 + 38)=
® 21+ (23 + 7)= @ 35+ (42 + 3 )=
@ 35+ (2 + 3)= 28+ (51 + 9)=
® 55+ (32 + 3)= @® 45+ (2 + 3 )=



